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1. Write the expression.
Seven less than n. n \J

(2) If your answer is
7 — n draw the %

following hair. € 9

.| 3. Write the expression. .Hx‘ao
. | more than the product of four

and m.

Um+ 2

(b) If your answer is
x + 10 draw the
following mustache.
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(b) If your answer is - 2 s
n — 7 draw the N following eyebrows.
following hair. (b) K your snswer is (b) I your answer is
77 ||| 4y craw the ollowing m. 2imrddmwte | S
nose. following eyebrows.
4. Jenna has $10 more than 5. Jonathan has five fewer 6. Yvana has one more than
Alyssa. Alyssa has x dollars. | cookies than Will. Will has c | three times as many pencils as
‘Write an expression to show | cookies. Which expression | Bruno. Bruno has p pencils.
the amount of Jenna’s gﬂﬂuﬁ the sitnation? ‘Which expression shows
money. ~O e rm Yvana’s pencils? \
\/ L_\ () X your U‘V % +
is (a) If your answer
-] | (@) If your answer is ¢ —5 draw the @@ Wﬂ“w&“ﬁa N
10x draw the
Loxdmwthe e |G  on the forehead.

(b) If your answer is
1+p-p-p

draw the following M
wrinkle on the
forehead.
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7. Write an expression. Six
minus the quotient o». ?.ﬂ:%
five and five. \V

6~ 5
o 2

(a) If your
answer is \\ -

6-25(5)
draw the

| | following \ S
object on the
serving tray.

5(a)-2

2712
25

(b) If your
answer is
6-25/5

draw the Eemne?
following
object on the
serving tray.

is 10 ’
draw the
following shirt.

(b) If your

25 draw th

9. Evaluate 2pq—r1
forp=3,q=2andr=35
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(a) If your answer is
227 write the Henri
following name. Poincare

(b) If your answer is 7

Albert
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name. Einstein
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